Math =zo0'!0b Tutorial 6

Ou‘t (fru. :

P artt o\l Denivatiye

p:ﬁcrmﬁa&;la'fy

































Y tartial  derivative in Plar  wordipats

) - J e 2 © remark :
- 5. 9 P
let  (ro) ba po(aY Cood. . A= rse P o)
Y= vsing (7)‘(
\ a{ - Otl)
) Find -=r at (rhg) =1.0) y pertial deyisitiye
2) of N
F‘ﬂd 20 at (rie) = ((«0) "5(9/ T
o =
2 * *
Sl 5%
rsin@ 1ab)
For.v) = ruwsg € + tan§
2
> _ai ! af(ro) _ YSne . .
or = 5— = = (ruspe ) o = we "™ rsinpuwse e’
r=I, @=o
pe— )
. YSI‘}\B Yg"h&
2) 2 = —rsing = + Y € + sec’@
r=1 .@=0

[— 2 (ot 1rg) =t1.0) )



























































































































N j: = R — R s o{.'fehen-h'aﬁe = _)[' s Continuous
& 'a%é exist

l;f C‘ C) @ % exict & (,wm'rwwug

fof R e ‘¢ olifferentiobly = f 5 wmtramous

¢ !
>
exist all 1<) =n %

of
oA+

nz?

Q: IS b{w@ o {&nc-}lan JC : /an — R which is on- a(,‘ﬁfemm‘/‘abe, at 7y

bwr a[/ 'PaV'l‘(‘d( Ole)’/‘?/&‘('/'{/\e O-f -)F ax E> ex st ?

A Teg
g y N
or n2 ety = T e

()(.\/ ) = o O)

>































































































r N=2 Xy .
o Let  touy) = Yty o By) # ee)
o OLy) = (o)

14

A R W i T et o
4 2 -

> o )\ ZFo T = o

J(;(ma) - b fo. %)~ ]C}o,o)

h>0

I
=
3

6

h fs0o ) = o0

e Loy 10.0)  exict v’

B wheder fuy) s df%ven-l—'\aﬁ&, ott (0 7

i (S ’ :
L foofog) difterentiabls at 10,0) = Fay i @mrwoagm

—

\ ? .
A ‘an)) = L .F(q\y) = ko % Sng tesg -
(29) 3100 %y)Drer0) r> o N = S$nz @52"(1 =
1=y o~k ’
0 D fuy) iconot contimons
r'> -P NS not A}gevemﬁaé(c at (o0) ot

(D: 0)





















































































e (a” ‘F”‘)‘) s et 1o us ot (0o)

> ?
Step | lsma B = g
P (%) (0. 0) -F })

-—

Step) ;) 4 3 25 LD c L +lo,0)

l‘—f C= -F(om) continmmons ot lo.0)
\
\:F C _i ,,C/o,o) IS conti amons at |2 0)
i) ,‘]C :ﬁ = -Fu\y) is not  lnti Auous ot la,o)
. I :
Q : (,{//\) We et H: = ’n examf& 7 choos e two Pm;( (“""’174*8 )
X:)’
A S : N \ \ &‘V\ﬂ { A
Swor i§ [m firy) = * ftor0) (131)(/;10,0 -F(zy) =+ (7'y)~>'<\o)—F )
()(‘)’) lo. v) Paf-‘ | P‘H’l\
1=y

)
Xy
= fF"*)’) 'S not  (onts rmious _IQ J) X et LH Lo §









































































e.? ‘ Show ’V’(ﬂf @ (inear

_>)
wc"‘) = C+ box, =

/%/jnorvw‘a ,

+ baxa Lhere X= (X <os ) 2a) D

S o(f-ﬁte}’en'f table  on R" ,Fyoy/] .;rlgjff nition .

Sol -

Fa  @= 0 2y e R

) CI\@:& ;jc al/ Farﬂa,( oerivative

exist.
Fa 1. o6 e
) e fl “ﬁ , —;)—(:' (05) - b’_
o
? Buomine ks  ewor term.
ot & . 'b(x. eYYor term i o b'-
I
(X)) — - S
) — fe) - fiz) - = ;,E(o?)(?(t—ao
W\ =
. L
;:\ h ()(\ —a\) _ g b' (;l: _ a‘\> 5
ToObviech t e e
Z & = &) =0 3 TS differentcable o &

AQ ;? Ve arL.‘-hmxry = JF ’s ol\‘ﬁerevvh‘uac on lpn»

















































































R? Ma}’b :
%P’ g = L; (enStant

Ctep 2. % (S (enti nuous ,@r all 7

n

Q-QP 2 «F i< o("\ﬁeve'n—h‘a“l on R

























